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W are asked whether the type of flower a client bought can be represented as a function of
that clents type of hat. Therefore, in this case, Type of hat s th independent or domain)
variabie and Type of flower i the dependent or range) variable.

Now e can view the table as i it describes a mapping from the domain of hats 1o the range of
fowers see below). Amapping ke this represents a functon if and ony if every dormain value s
mapped to exactly one range vaue.

To put it another way. T we can find a domain vale that is mapped to more than one range.
Value, then the table cannot epresent afunction. Based on this principle, can this table.
represent a unction?.

Domsin  Range
Bewet  Daffodi
Panama  Sunflovier
Cloche Viokets
Bower  Is
Beanic  Sunflower
Beet  Daffodi
Fedora  Narcssus
Cloche  Viokets

Lets inspect each domain value separately:
- "Beret"appearstwice n the table but both times s mapped 1o "Daffodi”
« "Cloche” appears twice n the table, but both times its mapped 1o "Violets™

+ *Panama’ "Bawier "Beanic; and "Fedora” appear only once. 50 of course they are each
mapped to only one range value:

So every domsin value s mapped o exactly one range value. Inather words, i we know the type:
of hat aclent wore. we can b cetain abou th type of lower tha cent bought. Therefore, the
able can indeed represent afunction.

Yest
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Hugo is the chef of a school cafeteria.

The table compares the amount of sugar in Hugo's pasta and the number of students who came asking for
second plates of pasta, for several different days.

Can the number of students who asked for second plates be represented as a function of the amount of
sugar?

Sugar (grams) ~ Second plates (# of students)

180 15
220 21
120 15
180 15
320 26
220 23

Choose 1 answer:

® Yes
® Mo
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We are asked whether the number of students who asked for second plates can be represented
as a function of the amount of sugar used. Therefore, in this case, Sugar is the independent (or
domain) variable and Second plates is the dependent (or range) variable.

Now we can view the table s f it describes a mapping from the domain of sugar amounts to
the range of numbers of students (see below). A mapping like this represents a function if and
only if every domain value is mapped to exactly one range value.

To put it another way, if we can find a domain value that is mapped to more than one range.
value, then the table cannot represent a function. Based on this principle, can this table
represent a function?

Domain 180 220 120 180 320 220
Range 15 21 15 15 2 23

By inspection of the table, we can see that the domain value 220 is mapped to both the range
value 21 and the range value 23. In other words, if we know that on a given day, Hugo used 220
‘grams of sugar, we cannot be certain about the number of students who asked for a second plate.

‘This is the only case where a domain value is mapped to more than one range value, but even a
single case is enough to determine that the table cannot represent a function.

Domain 180 220 120 180 320 220
Range 15 21 15 15 26 23
Not

‘The number of students who asked for second plates cannot be represented as a function of
the amount of sugar used.
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‘The table compares the amount of homework Khaled gave to his class, and the number of students who
completed them, for several different occasions.

Can the number of students who completed their homework be represented as a function of the
homework's size?

Homework (# of questions)  Complete (# of students)

5 30
B 24
6 26
10 20
4 32
7 2%
6 26
s 24
Choose 1 answer:

(®) No
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‘We are asked whether the number of students who completed a homework assignment can be:
epresented as  function of the length of that assignment Therefore, n this case, Homework is
the independent (r domai) variabie and Complete s the dependent or range) variabe.

Now we can view the table as i itdescribes a mapping from the domain of numbers of
homework questions o the range of numbers of students(sce below). A mapping ke his
epresents a functionif and only if every domain value is mapped to exictly one ange value.

To put it another way. T we can find a domain vale that is mapped to more than one range.
Value, then the table cannot epresent afunction. Based on this principle, can this table.
represent a unction?.

Domsin 5 8 6 10 4 7 6 8
Rage 30 24 26 20 32 2 2% 24

- The domain value 6 appears twice inthe tabe, butboth tmes
value 26

mapped to the range

« The other domain values appear only once 50 of course they are each mapped (0 only
one range vaue.

S0 every domain value s mapped o xactly one range value. In ther words, i we know the
rumber ofquestions inasiven assanment. we can b cetain bou the number of students who
‘completed . Therefore. the table can indeed representa function.

Domsin 5 8 6 10 4 7 6 &
Rage 30 24 26 20 32 2% 2% 24

Yest

“The number ofstudents who completed a homework assignment can be represented as
function of the length of that assignment.
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‘The table compares the hats worn by each customer in a flower shop and the flowers that the customers
bought.

Can the type of flower be represented as a function of the type of hat?

Typeofhat  Type of flower

Beret Daffodil
Panama  Sunflower
Cloche Violets
Bowler Iris
Beanie Sunflower
Beret Daffodil
Fedora Narcissus
Cloche Violets

Choose 1 answer:

(&) MNo




